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Note :

1.

Question No. 1 is compulsory, answer any FOUR questions from the remaining.

(i) NI ¥ & 9 97T F) FHER UF G FF H11Ad /|

Solve all parts of a question consecutively together.

(iii) FIF Fo7 1 79 98 & IR Ffrd |

Start each question on fresh page.

(iv) @ yrarai 3R g7 #1 Rl 7 s e @ = 8 |

Only English version is valid in case of difference in both the languages.

(1) X % 2 HATTA afal & o= 1 gl 1 HEd 8

(2

3)

(a) s (b) f=

(c) wifs= (d) ITtea o F HrE TE
The two successive teeth of a blade is called

(a) Lead (b) Pitch

(c) Margin (d) None of them
e sovg WA fpw g F T I R 7

(a) T (b) =Tl

(c) & =i (d) I et

Which material is used to make hacksaw blades ?

(a) Alloy Steel (b) High Speed Steel
(¢) High Carbon Steel (d) All of the above
R =g & ghal Y srpfa S At R 7

@ fm-3m b) THHE

(c) FRH AR (d) I # A Hi T
What is the shape of blade of the hacksaw teeth ?

(a) Zig-Zag (b) Inclined

(¢) Upside (d) None of them

(1 of 8) P.T.O.
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(C))

&)

(6)

(7

®)

Tt dge sfén 7 g fefem fer ) wer e wgermar 2

(a) =G (b) fefem

(c) fafem (@) Feww fn
Enlarging an existing drilling hole with a single point tool is called
(a) Boring (b) Drilling

(c) Reaming (d) Internal turning
H fremr o g @ ¢

(a) IW (b) Y

(c) Tafem usfim (d) TR

A knee is a part of

(a) Shaper (b) Lathe

(c) Milling machine (d) Slotter

faferm aef & wife o iR fras g s @ 2

(a) PE@R (b) feamsfEn s

(c) 3maR (d) fewifige A%
Indexing of the job in a milling machine is achieved by

(a) Face plate (b) Dividing head

(c¢) Arbor (d) Differential mechanism

farfet wefim & smma =1 3vdm frae! ghed & fore fsar sman 2 2

(a) fores (b) 3 3
(c) Wfemgw (d) #3=
The Arbor of milling machine is used to hold
(a) Spindle . (b) Overarm
(¢) Cutting tool (d) Mandrel

FT B HRGUE F o i fawm § eyt urg F 1w Al w2

(a) 3y ffem (b) 3T fufem

(c) wza fufem (d) =T fufem

The process of removal of metal by rotating the cutter in the direction of travel
of work piece is called

(a) Up milling (b) Down milling

(c) Straddle milling (d) Saw milling
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®)

i fufer 2

(a) FEHE S I A FI T EFAR |

(b) U ATy wTiya 3§ ffeim wefiE W ovw wE o e wwar R |

(c) a3 A e Fed ey e & R I Wft wFH wI U EI A E |

(d) vEH & HETE

In gang milling

(a) Several jobs can be performed in one setup.

(b) One job is completed on several milling machines located together.

(¢) Two or more cutters are mounted on the Arbor and all of them remove the

metal simultaneously.
(d) None of these

(10) =i gaes g ffea e s awa 2 |

(a) @i HefiA (b) Y T
(c) st wef & &y wefiA (d) ITEa aft
Boring can be performed by

(a) Boring machine

(b) Lathe machine

(c) Boring machine and lathe machine
(d) All of the above

(1) TR FEF @ TE I AR ?

(13)

@ W (b) et g

(c) wiftaasig (d) ot et

Main element of a grinding wheel is

(a) Sand (b) Mini structure

(¢) Abrasive & bond (d) All of the above
(12) 3= Sftn e @ H TN FEAE ?

(a) WFR (b) FeumEfEn

(c) wiftE (d) g

Grain spacing of wheel is called

(a) Structure (b) Hand grinding

(c) Abrasive (d) Bond

fiferea g S T GRFE R ?

(a) A (b) wATE

() T (d) I @

Which type of abrasive is silicon carbide ?

(a) Natural (b) Artificial

(c) Clay (d) All of the above

P.T.O.
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(a) THUERE (b) Tefafam

(c) g fefafdm (d) U ot

Open wheel structure is used for

(a) Rough grinding (b) Finishing

(¢)  Super finishing (d) All of the above
(15) U uTesh s sua gl & 7

1
(a) Tlaﬁﬂﬂ (b) mﬁlﬁ
1 1
©) Togo @ To000
One micron is equal to
1
@ jgmm L O Thmm
1

(c) E"loamm (d) 10000 ™mm
(16) =1 # & 7 51 Sewrem Sy 197 T 2 2

(a) == (b) R

(c) fewzs d) W=

Which one is not a part of capstan lathe ?

(@) Chuck (b) Tail stock

(t) Spindle (d) Tool post
(17) ¥ d=fn o= 2

(a) st (b) BRS

(©) ()3 (b) (d) ¥ A Fd 7

Self centering chuck is

(a) Three jaw (b) Four jaw

() (a)&(b) (d) None of them
(18) &% # wfa = fra gfr & vt sman 2 -

(a) == (b) EE FeX

() Wi (d) o & Hré 7

Which device is used for holding job in a lathe ?

(a) Jaw chuck (b) Live centre

(¢) Carriage (d) None of them
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